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Merkle  RootHash = Rh11 

hTx1=6707A9C                                               hTx2=C1169C4 

           Tx1                                                                     Tx2

>> PrBlh=h28('nonce=1020')
PrBlh = 0CAF06F

>> Rh11 = h28('hTx1=6707A9C||hTx2=C1169C4')
                             Rh1=89B5B94

>> Bl11_00=sha256('Bl11:PrBlh=0CAF06F||Rh=89B5B94||hTx1=6707A9C||hTx2=C1169C4||nonce=1000')

Bl11_00 = AAABD6D9FFB1DB2015C59106CE65B6E05C8ABE6D76BB661DAE1F737F6FF7B658
                   000000000000000000HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH

   123_012 BlockChain_Block-Mining Page 2    



Rh=89B5B94

nonce=1000
nonce=2200
nonce=3050
…..

PrBlh=0CAF06F

Tx1; hTx1=6707A9C

Tx2; hTx2=C1169C4

>> Bl11_00=h28('Bl11:PrBlh=0CAF06F||Rh=89B5B94||hTx1=6707A9C||hTx2=C1169C4||nonce=1000')
Bl1_00 = D99C1E7

>> Bl11_18=h28('Bl11:PrBlh=0CAF06F||Rh=89B5B94||hTx1=6707A9C||hTx2=C1169C4||nonce=2018')
Bl11_18 = 06B0772

>> 2^28   ans =  268435456
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>> 2^24   ans =  16777216

Bl11_18 = 06B0772

Exercises

PrBlh = 0CAF06F

hTx1=6707A9D||hTx2=C1169C5||nonce=1000

hTx1=7707A9D||hTx2=D1169C5||nonce=5000

hTx1=6707A9E||hTx2=C1169C6||nonce=2000

hTx1=6707A9F||hTx2=C1169C7||nonce=3000

hTx1=6707A91||hTx2=C1169C8||nonce=4000
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>> Bl11_00=h28('Bl11:PrBlh=0CAF06F||Rh=89B5B94||hTx1=6707A9C||hTx2=C1169C4||nonce=1000')
Bl1_00 = D99C1E7

>> Bl5=h28('Bl11:PrBlh=0CAF06F||Rh=89B5B94||hTx1=6707A9C||hTx2=C1169C4||nonce=5000')

>> Rh1=h28('hTx1=6707A9D||hTx2=C1169C5')
Rh1 = 9F9E017

Bl1=h28('Bl11:PrBlh=0CAF06F||Rh=9F9E017||hTx1=6707A9D||hTx2=C1169C5
||NONCE=1009')
Bl1 = 0F253CF

Bl4=h28('Bl11:PrBlh=0CAF06F||Rh=963762D||hTx1=6707A91||hTx2=C1169C8
||nonce=4012')
Bl4 = 069216F

Bl2=h28('Bl2:PrBlh=0CAF06F||Rh=F6211DD||hTx1=6707A9E||hTx2=C1169C6
||NONCE=2012')
Bl2 = 00082BC

Bl5=h28('hTx1=7707A9D||hTx2=D1169C5||NONCE=5040')
Bl5 = BF6777D
>> Bl5=h28('hTx1=7707A9D||hTx2=D1169C5||NONCE=5052')
Bl5 = 00493CB

>> Bl5=h28('Bl1:PrBlh=0CAF06F||Rh=33E139E||hTx1=6707A9E||hTx2=C1169C6||NONCE=5011')
Bl5 = 0890312 works for Zeid
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1/268 435 456
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